EPD Glass Element

Short version
Environmental Product Declaration
Acc. to ISO 14025 and EN 15804

Cl System Glass Element F | F100 | FEgperysave (company EPD)

LAMILUX Heinrich Strunz GmbH

Declaration code

EPD-EG-GB-11.1 Tota
September 2013 t Life ]_f t

ROSENHEIM



Environmental Product Declaration in

accordance with I1SO 14025 and EN 15804
Glass element F, F100; FE cpergysave @and smoke lift ME

Short version (Part 1 of 4)

ROSENHEIM

ift Rosenheim GmbH

Programme | Theodor-Gietl-Strasse 7-9
operator 83026 Rosenheim

ROSENHEIM

LCA analyst

Brands & values GmbH
Karl-Ferdinand-
Braun Str.2

28359 Bremen

brands&

suUstaiRRblity consultants

Holder of the declaration

LAMILUX

Heinrich Strunz GmbH

Zehstralle 2
D-95111 Rehau

LAMILUX

N ~
Product lees ¥ \)
*
LCA results stage < @\ %,
2 4 N\
per m? Glass element F ‘ A3 82 B};\\ B4
4 - 1
Primary energy — non-renewable
PE, in MJ 4.610,00 44,50 90,60 - 26,44 110,00 -
( n renw)
Primary energy — renewable
(PEqenw) in MJ 1.310,00 2,63 5,36 - 0,21 4,89 -
Global warming potential
(GWP 100) in kg/€CO , equiV. 257,00 3,25 47,30 N 0,63 6,36 -
Ozone depletion potential
ODP) in kg R11 equiv, 2,57E-06 | 6,77E-11 | 3,17E-10 - 6,34E-11 | 7,05E-08 -
(ODP) in kg q
Acidification poteftial
(AP)fimkg'SO 5 equivs 1,62 0,02 -0,01 - 2,07E-03 0,02 -
Eutrophication potential
EP) in kghPO > equiv. 0,12 3,72E-03 | -3,90E-04 - 2,40E-04 | 1,14E-03 -
(EP) g 4 €q
Photochemical ozone creation
potential
) ) 0,12 -5,32E-03 | -2,04E-04 - 2,45E-04 | 2,47E-03 -
(POCP) in kg C ,H, €eguiv.
Abiotic deplétion"potential
(elements)
. ) 2,97E-03 | 1,50E-07 |-3,32E-07 - 1,03E-07 | 2,26E-04 -
(ADPg,) in kg Sb equiv.
Abiotic depletion potential (fossil)
(ADPy5s) in MJ 4.600,00 44,50 -304,00 - 26,44 109,00 -
i i 3
Water consumption in m 763,00 0,20 0.40 i 0,23 3,63 )

All values marked with [-] are either marginal, not available or can not be stated. Not relevant modules are described in the annex.

Vi s e,

7 Sled

Prof. Ulrich Sieberath
Director of Institute

Florian Stich
Verifier




Environmental Product Declaration in
accordance with I1SO 14025 and EN 15804

Glass element F, F100; FE cpergysave @and smoke lift ME

Short version (Part 1 of 4)

ROSENHEIM

Declaration code EPD-EG-11.1 Basis
LAMILUX Glass element F, . Em '1553014‘_‘25?22011
Designation of declared | LAMILUX Glass element F100, h ¥ | eittaden sur
product LAMILUX Glass element FEenergysave: Erstelfung von Typ Il
LAMILUX Smoke lift ME Umweltproduktdeklagationen
A . . [— Guidance on prepéring» Type
Daylight systems for increased daylightincidence 11l Environmental Preduct
Scope and natural ventilation and extraction Declarations),
This Degclaration is baseden
the P€R\document [Fenster,
Flachdach Fenster,
Lichtkuppeln und
: Recyclin Lichtbandef(windows, flat
Use stage End-of-life ‘ potgntia? roof windows, light defes+and
(‘ continuous rooflights) PCR-
B5 B6 B7 c1 ‘2 Ca PV |Fe20z0s
Validity

) ) . . 3,03 U 249 +2.250,00 This venified Environmental
Prioduct Declaration applies
selely to the specified

. - - - 0,18 3,86 0,13 -601,00 products and is valid for a
period of 5 years from the
date created.

The declaration holder

. . i ° 0.22 30:20 0.20 +181,00 assumes full liability for the
underlying data, certificates
and verifications.

- - - - 4,61E-12 | 1,77E-07 | 9,88E-11 | -2,77E-07 o
Date of publication:

30 September 2013

" - - £ 1,00E:03- 002 | 654E-04 | -1,12 Next revision:

30 September 2018
2,43E-04 | 9,02E-03 | 4,69E-04 0,07 HCA basis

< i 1 i o e Y e The LCA was prepared in
accordance with
EN ISO 14040 and

- - - - -3,45E-04 | 1,30E-03 | 9,41E-05 -0,06 EN ISO 14044. The base data
includes both the data
collected at the production
site of Lamilux and generic

- - - - 1,02E-08 | 7,44E-06 | 4,00E-08 | -1,31E-03 data from the "GaBi 6"
database. LCA calculations
were based on the "cradle to

) ) B B 303 54.20 249 -2.950.00 grave" life cycle including all

’ ’ ' — upstream processes (e.g. raw
material extraction, etc.).

- - - - 0,01 18,80 0,10 -613,00 Notes on publication
"Conditions and Guidance on
the Use of ift Test
Documents" apply.

ift Rosenheim GmbH Theodor-Gietl-Str. 7 - 9 Sitz: 83026 Rosenheim
Y Geschaftsfiihrer: D-83026 Rosenheim AG Traunstein, HRB 14763 gg:mw. (( DAKKS
Dr. Jochen Peichl Eel.: +218 (g)ggg:}gg:}]ggo Eparlégg;e Rosenheim ARG E 22Itﬁ) 2::6;!'9 estel
Prof. Ulrich Sieberath -+ R to. -ZE-2288. drediterungsiele
ROSENHEI D Miattin M Spiener oo s holrae e BLZ 711 500 00 DGA-15-4285-00 D-ZN 11 246-07-00




Environmental Product Declaration in
accordance with I1SO 14025 and EN 15804

Glass element F, F100; FE cpergysave @and smoke lift ME

Short version (Part 2 of 4)

ROSENHEIM

Programme
operator

ift Rosenheim GmbH
Theodor-Gietl-Strasse 7-9

83026 Rosenheim
ROSENHEIM

LCA analyst

Brands & values GmbH
Karl-Ferdinand-  5nds
Braun Str.2
28359 Bremen

suUstaiRRblity consultants

Holder of the declaration

LAMILUX

Heinrich Strunz GmbH

Zehstralle 2
D-95111 Rehau

LAMILUX

N ~
Product QJ ¥ \)
ses .
LCA results stage < @\ %,
per m? Glass element F100 ‘ A3 . B $\\\ B4
%ﬂ - b‘
Primary energy — non-renewable
2.42 -304 - 26,44 11 -
(PEs o) i MJ 0,00 39,80 304,00 6, 0,00
Primary energy — renewable
690,00 2,36 0,72 < 0,21 4,89 -
(PErenw) in MJ
Global warming potential
(GWP 100) in kg/6O > equil} 82,70 2,90 47,30 o 0,63 6,36 -
Ozone depletion potential
-07 -11 TE-1 - 4E-11 | 7,05E- -
(ODP) in kg R11 equiv, 6,39E-0 6,06E 3,17E-10 6,3 ,05E-08
Acidification poteftial
44 ,01 -0,01 - 2,07E-03 0,02 -
(AP)imkg'SO , equiv4 9 S
Eutrophication potential
. . . 0,07, 3,33E-03 | -3,90E-04 - 2,40E-04 | 1,14E-03 -
(EP) inkagPO ;> equiv.
Photochemical ozone creation
potential 0,07 -4,76E-03 | -2,04E-04 - 2,45E-04 | 2,47E-03 -
(POCP) in kg C ,H, €eguiv.
Abiotic deplétion"potential
(elements) 1,38E-03 | 1,34E-07 |-3,32E-07 - 1,03E-07 | 2,26E-04 -
(ADPg,) in kg Sb equiv.
Abiotic depletion potential (fossil)
(ADPys) in MJ 2.420,00 39,80 -304,00 - 26,44 109,00 -
Water consumption in m3 107,00 0,18 0,73 - 0,23 3,63 -

All values marked with [-] are either marginal, not available or can not be stated. Not relevant modules are described in the annex.

Vi s e,

7 Sled

Prof. Ulrich Sieberath
Director of Institute

Florian Stich
Verifier




Environmental Product Declaration in
accordance with I1SO 14025 and EN 15804

Glass element F, F100; FE cpergysave @and smoke lift ME

Short version (Part 2 of 4)

ROSENHEIM

Declaration code EPD-EG-11.1 Basis
LAMILUX Glass element F, N EE g‘;&‘_‘géff“l
Designation of declared | LAMILUX Glass element F100, h > | eittaden 2ur
product LAMILUX Glass element FEenergysave: Erstelfung von Typ Il
LAMILUX Smoke lift ME Umweltproduktdeklagatiorien
i K i — Guidance on prepéring» Type
Daylight systems for increased daylightincidence 11l Environmental Preduct
Scope and natural ventilation and extraction Declarations).
This Degclaration is baseden
the P€R\document [Fenster,
Flachdach Fenster,
Lichtkuppeln und
: Recyclin Lichtbandef(windows, flat
Use stage End-of-life ‘ potgntia? roof windows, light defes+and
(‘ continuous rooflights) PCR-
B5 B6 B7 c1 &2 ca PY| | FE0ra0ns
Validity

) ) . . 27 oy 282 -642,00 This venified Environmental
Prioduct Declaration applies
selely to the specified

. - - - 0,16 574 0,15 -12,20 products and is valid for a
period of 5 years from the
date created.

The declaration holder

. . i ° 0.20 38,10 0.23 142,30 assumes full liability for the
underlying data, certificates
and verifications.

- - - - 4,13E-12 | 1,50E-07 | 1,10E-10- | -2,43E-07 o
Date of publication:

30 September 2013

- - - ; 8,98E:04-| 003 | 712604 | -0,26 Next revision:

30 September 2018
2,17E-04 | 8,13E-03 | 5,60E-04 0,03 HCA basis

< i 1 i . . ha e The LCA was prepared in
accordance with
EN ISO 14040 and

- - - - -3,09E-04 | 1,64E-03 | 1,05E-04 -0,02 EN ISO 14044. The base data
includes both the data
collected at the production
site of Lamilux and generic

- - - - 9,12E-09 | 1,65E-05 | 4,41E-08 | -6,91E-04 data from the "GaBi 6"
database. LCA calculations
were based on the "cradle to

) ) B B 271 7750 282 -641.00 grave" life cycle including all

’ ’ ' ' upstream processes (e.g. raw
material extraction, etc.).

- - - - 0,01 17,90 0,11 -13,90 Notes on publication
"Conditions and Guidance on
the Use of ift Test
Documents" apply.

ift Rosenheim GmbH Theodor-Gietl-Str. 7 - 9 Sitz: 83026 Rosenheim
Y Geschaftsfiihrer: D-83026 Rosenheim AG Traunstein, HRB 14763 Rrsiirungs (( DAKKS
Dr. Jochen Peichl Eel.: +218 (g)ggg:}gg:}]ggo Eparlégg;e Rosenheim ARG E 22Itﬁ) 2::‘53!'; gstel
Prof. Ulrich Sieberath -+ g to. -ZE-2288.
ROSENHEI D Miattin M Spiener oo s holrae e BLZ 711 500 00 DGA-15-4285-00 D-ZN 11 246-07-00




Environmental Product Declaration in
accordance with I1SO 14025 and EN 15804

Glass element F, F100; FE cpergysave @and smoke lift ME

Short version (Part 3 of 4)

ROSENHEIM

Programme
operator

ift Rosenheim GmbH
Theodor-Gietl-Strasse 7-9
83026 Rosenheim

ROSENHEIM

LCA analyst

Brands & values GmbH
Karl-Ferdinand-  5nds
Braun Str.2
28359 Bremen

suUstaiRRblity consultants

Holder of the declaration

LAMILUX

Heinrich Strunz GmbH
Zehstral3e 2

D-95111 Rehau

LAMILUX

N ~
Product QJ ¥ \)
ses .
LCA results stage < @\ %,
per m? Glass element FE ¢nergysave ‘ A3 { = 5\\\ ™
%ﬂ - b‘
Primary energy — non-renewable
7. 2,7 -312 - 26,44 11 -
(PEs o) i MJ 330,00 62,70 312,00 6, 0,00
Primary energy — renewable
1.700,00 3,71 0,74 < 0,21 4,89 -
(PErenw) in MJ
Global warming potential
(GWP 100) in kg/6O > equil} 421,00 4,58 48,60 S 0,63 6,36 -
Ozone depletion potential
2E- -11 -1 - 4E-11 | 7,05E- -
(ODP) in kg R11 equiv, 3,92E-06 | 9,55E 3,26E-10 6,3 ,05E-08
Acidification poteftial
2.3 ,02 -0,01 - 2,07E-03 0,02 -
(AP)imkg'SO , equiv4 , S
Eutrophication potential
. . ) 0,18 5,25E-03 | -3,98E-04 - 2,40E-04 | 1,14E-03 -
(EP) inkagPO ;> equiv.
Photochemical ozone creation
potential 0,19 -7,51E-03 | -2,07E-04 - 2,45E-04 | 2,47E-03 -
(POCP) in kg C ,H, €eguiv.
Abiotic deplétion"potential
(elements) 4,15E-03 | 2,11E-07 |-3,40E-07 - 1,03E-07 | 2,26E-04 -
(ADPg,) in kg Sb equiv.
Abiotic depletion potential (fossil)
(ADPs) in MJ 7.330,00 62,70 -312,00 - 26,44 109,00 -
Water consumption in m3 1.140,00 0,28 0,75 - 0,23 3,63 -

All values marked with [-] are either marginal, not available or can not be stated. Not relevant modules are described in the annex.

Vi s e,

7 Sled

Prof. Ulrich Sieberath
Director of Institute

Florian Stich
Verifier




Environmental Product Declaration in
accordance with I1SO 14025 and EN 15804

Glass element F, F100; FE cpergysave @and smoke lift ME

Short version (Part 3 of 4)

ROSENHEIM

Declaration code EPD-EG-11.1 Basis
LAMILUX Glass element F, N EE '135201442(2,?22011
Designation of declared | LAMILUX Glass element F100, h ¥ | eittaden sur
product LAMILUX Glass element FE energysave » Erstelfung von Typ Il
LAMILUX Smoke lift ME Umweltproduktdeklagationen
A . . [— Guidance on prepéring» Type
Daylight systems for increased daylightincidence Il Environmental Preduct
Scope and natural ventilation and extraction Declarations),
This Degclaration is baseden
the P€R\document [Fenster,
Flachdach Fenster,
Lichtkuppeln und
: Recyclin Lichtbandef(windows, flat
Use stage End-of-life ‘ potgntia? roof windows, light defes+and
(‘ continuous rooflights) PCR-
B5 B6 B7 c1 ‘2 Ca PV |Fe20z0s
Validity

) ) . . 4.27 gy 478 +3.350,00 This venified Environmental
Prioduct Declaration applies
selely to the specified

- - - - 0,25 6,53 0,24 -846,00 products and is valid for a
period of 5 years from the
date created.

The declaration holder

. . i ° 0,31 64,20 0.87 +269,00 assumes full liability for the
underlying data, certificates
and verifications.

- - - - 6,50E-12 | 3,09E-07 | 1,81E-10 | -3,45E-07 o
Date of publication:

30 September 2013

- - - ; 141E:03-| 003 | 1,16E-03 | -1,58 Next revision:

30 September 2018
LCA basis

- - - - 3,42E-04 0,02 9,69E-04 -0,09 )
The LCA was prepared in
accordance with
EN ISO 14040 and

R - - - -4,86E-04 | 2,33E-03 | 1,72E-04 -0,09 EN ISO 14044. The base data
includes both the data
collected at the production
site of Lamilux and generic

- - - - 1,44E-08 | 5,96E-06 | 7,18E-08 | -2,08E-03 data from the "GaBi 6"
database. LCA calculations
were based on the "cradle to

) ) B B 427 98.00 4.78 -3.350.00 grave" life cycle including all

’ ’ ' T upstream processes (e.g. raw
material extraction, etc.).

- - - - 0,02 30,90 0,18 -862,00 Notes on publication
"Conditions and Guidance on
the Use of ift Test
Documents" apply.

ift Rosenheim GmbH Theodor-Gietl-Str. 7 - 9 Sitz: 83026 Rosenheim
Y Geschaftsfiihrer: D-83026 Rosenheim AG Traunstein, HRB 14763 Rrsiirungs (( DAKKS
Dr. Jochen Peichl Eel.: +218 (g)ggg:}gg:}]ggo Eparlégg;e Rosenheim ARG E 22Itﬁ) 2::‘53!'9 gstel
Prof. Ulrich Sieberath + - to. oEass 1134550100,
ROSENHEI D Miattin M Spiener oo s holrae e BLZ 711 500 00 DGA-15-4285-00 D-ZN 11 246-07-00




Environmental Product Declaration in
accordance with I1SO 14025 and EN 15804

Glass element F, F100; FE cpergysave @and smoke lift ME

Short version (Part 4 of 4)

ROSENHEIM

ift Rosenheim GmbH

Programme | Theodor-Gietl-Strasse 7-9
operator 83026 Rosenheim

ROSENHEIM

LCA analyst

Brands & values GmbH

Karl-Ferdinand-
Braun Str.2
28359 Bremen

brands&

suUstaiRRblity consultants

Holder of the declaration

LAMILUX

Heinrich Strunz GmbH

Zehstralle 2
D-95111 Rehau

LAMILUX

N ~
Product QJ ¥ \)
ses .
LCA results stage < @\ %,
per m? Smoke lift ME ‘ A3 . B $\\\ B4
%ﬂ - b‘
Primary energy — non-renewable
4. 2 -302 - 26,44 11 -
(PEs o) i MJ 880,00 50,20 302,00 6, 0,00
Primary energy — renewable
1.340,00 2,97 0,71 < 0,21 4,89 -
(PErenw) in MJ
Global warming potential
(GWP 100) in kg/6O > equil} 298,00 3,66 47,10 S 0,63 6,36 -
Ozone depletion potential
2 - 7 -11 -1 - 4E-11 | 7,05E- -
(ODP) in kg R11 equiv, ,58E-06 ,64E 3,16E-10 6,3 ,05E-08
Acidification poteftial
1,61 ,02 -0,01 - 2,07E-03 0,02 -
(AP)imkg'SO , equiv4 S
Eutrophication potential
. . ) 0,14 4,20E-03 | -3,88E-04 - 2,40E-04 | 1,14E-03 -
(EP) inkagPO ;> equiv.
Photochemical ozone creation
potential 0,13 -6,01E-03| -2,03E-04 - 2,45E-04 | 2,47E-03 -
(POCP) in kg C ,H, €eguiv.
Abiotic deplétion"potential
(elements) 2,12E-03 | 1,69E-07 | -3,31E-07 - 1,03E-07 | 2,26E-04 -
(ADPg,) in kg Sb equiv.
Abiotic depletion potential (fossil)
(ADPys) in MJ 4.880,00 50,20 -302,00 - 26,44 109,00 -
\Water consumption in m3 790,00 0,22 0,73 - 0,23 3,63 -

All values marked with [-] are either marginal, not available or can not be stated. Not relevant modules are described in the annex.

Vi s e,

7 Sled

Prof. Ulrich Sieberath
Director of Institute

Florian Stich
Verifier




Environmental Product Declaration in
accordance with I1SO 14025 and EN 15804

Glass element F, F100; FE cpergysave @and smoke lift ME

Short version (Part 4 of 4)

ROSENHEIM

Declaration code EPD-EG-11.1 Basis
LAMILUX Glass element F, N EE '135201442(2,?22011
Designation of declared | LAMILUX Glass element F100, h ¥ | eittaden sur
product LAMILUX Glass element FEenergysave: Erstelfung von Typ Il
LAMILUX Smoke lift ME Umweltproduktdeklagationen
A . . [— Guidance on prepéring» Type
Daylight systems for increased daylightincidence Il Environmental Preduct
Scope and natural ventilation and extraction Declarations),
This Degclaration is baseden
the P€R\document [Fenster,
Flachdach Fenster,
Lichtkuppeln und
: Recyclin Lichtbandef(windows, flat
Use stage End-of-life ‘ potgntia? roof windows, light defes+and
(‘ continuous rooflights) PCR-
B5 B6 B7 c1 ‘2 Ca PO |Fer0rz0s
Validity

) ) . . 342 grou 2,64 +2.550,00 This venified Environmental
Prioduct Declaration applies
selely to the specified

- - - - 0,20 4,54 0,15 -661,00 products and is valid for a
period of 5 years from the
date created.

The declaration holder

. . i ° 0.25 28,30 0.21 »205,00 assumes full liability for the
underlying data, certificates
and verifications.

- - - - 5,20E-12 | 2,11E-07 | 1,09E-10- | -3,02E-07 o
Date of publication:

30 September 2013

" - - g 1,13E:03-| 0,02 - | 7,38E-04 | -1,29 Next revision:

30 September 2018
2,74E-04 0,01 4,64E-04 0,08 HCA basis

< i 1 i T ' e e The LCA was prepared in
accordance with
EN ISO 14040 and

- - - - -3,89E-04 | 1,49E-03 | 1,04E-04 -0,07 EN ISO 14044. The base data
includes both the data
collected at the production
site of Lamilux and generic

- - - - 1,15E-08 | 8,96E-06 | 4,47E-08 | -1,06E-03 data from the "GaBi 6"
database. LCA calculations
were based on the "cradle to

) ) B B 3.42 63.60 2 64 -2.550.00 grave" life cycle including all

’ ’ ' T upstream processes (e.g. raw
material extraction, etc.).

- - - - 0,02 22,50 0,11 -675,00 Notes on publication
"Conditions and Guidance on
the Use of ift Test
Documents" apply.

ift Rosenheim GmbH Theodor-Gietl-Str. 7 - 9 Sitz: 83026 Rosenheim
Y Geschaftsfiihrer: D-83026 Rosenheim AG Traunstein, HRB 14763 Rrsiirungs (( DAKKS
Dr. Jochen Peichl Eel.: +218 (g)ggg:}gg:}]ggo Eparlégg;e Rosenheim ARG E 22Itﬁ) 2::‘53!'; gstel
Prof. Ulrich Sieberath -+ R to. -ZE-2288.
ROSENHEI D Miattin M Spiener oo s holrae e BLZ 711 500 00 DGA-15-4285-00 D-ZN 11 246-07-00




ROSENHEIM

ift Rosenheim GmbH
Theodor-Gietl-Stral3e 7-9
83026 Rosenheim
Telefon: +49 (0) 80 31/ 261-0
Telefax: +49 (0) 80 31/ 261-290
E-Mail: info@ift-rosenheim.de
www.ift-rosenheim.de



	Titelseite_EPD_Glaselement_kurzfassung_engl
	EPD_Echtglasv._Lamilux_GlaselementF_kurz_engl
	EPD_Echtglasv._Lamilux_GlaselementF100_kurz_engl
	EPD_Echtglasv._Lamilux_GlaselementFEenergysave_kurz_engl
	EPD_Echtglasv._Lamilux_Rauchlift_kurz_engl
	Schlußseite

